
Séquence de Nombres Linéaires (A)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 855 780 555 480 405 330 255Différence commune:2. 514 509 504Différence commune:3. 711 661 461Différence commune:4. 957 882 807 732 657 432 357 282Différence commune:5. 1000 900 800 700 500 300 200 100Différence commune:6. 312 262 237 162 137Différence commune:7. 1000 900 800 600 300 200 100Différence commune:8. 240 235 215 210Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (A) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 855 780 705 630 555 480 405 330 255 180Différence commune: -752. 544 539 534 529 524 519 514 509 504 499Différence commune: -53. 911 861 811 761 711 661 611 561 511 461Différence commune: -504. 957 882 807 732 657 582 507 432 357 282Différence commune: -755. 1000 900 800 700 600 500 400 300 200 100Différence commune: -1006. 362 337 312 287 262 237 212 187 162 137Différence commune: -257. 1000 900 800 700 600 500 400 300 200 100Différence commune: -1008. 255 250 245 240 235 230 225 220 215 210Différence commune: -5Mathslibres.com


